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Read the following instructions carefully before you begin to answer the questions. This Booklet contains
100 questions with multiple choice answers both in English and Odia language. In case of discrepancy in
meaning, the English version will prevail.
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. This Booklet contains in all 100 questions with multiple choice

answers.
All questions are compulsory and carry equal mark.

. Before answering any question, checkup this Booklet and ensure

that it contains 20 pages and no page is missing, mutilated or
repeated. In case of any defect replace it immediately.

The Invigilator shall supply you the bank OMR Answer Sheet
separately. Enter your Roll Number, Question Booklet Serial
Number and Question Booklet Series Code and darken the
corresponding circle/oval provided on left side of the Answer
Sheet carefully by black/blue ball point pen only. You must write
the name, date and center of examination and put your full
signature in the appropriate spaces provided therein before
answering any question.

. Amachine will read the coded information furnished by you in

the OMR Answer Sheet. If the information so furnished by you
are incomplete or different from what have been given in the
application form, you will be awarded Zero mark.

. These instructions must be complied with fully failing which your

Answer Sheet will not be evaluated and Zero mark will be
awarded.

Answer must be given by completely blackening one of the four
circles/ovals representing the correct answer given on right side of
the Answer Sheet corresponding to the relevant question number
by using Black/Blue ball point pen only. Answers not shown by
black/blue ball point pen shall not be awarded any mark.

Failure to hand over the Answer Sheet to the Invigilator before
leaving the examination hall/room will make you liable to penal
action.

. Read carefully the instructions of answering each question before

answering it.
Answer the questions as quickly and carefully as you can. Some
questions may be easy and others difficult. Don’t spend too much
time on any question.
No Rough work has to be done on the OMR Answer Sheet. Space
for rough work has been provided below the questions wherever
needed.
You must not carry into the examination hall/ room any book,
mobile phones or electronic devices printed/handwritten papers
except the Admission Letter.

Failure to comply with any of the above instructions will
be considered as using unfair means and action as deemed proper
will be taken against the violators.
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— ARITHMETIC
1. By what greatest number will 2249, 8227 and 756 be divided to leave reminders of 8, 10 & 9
respectively?
(A) 77 (B) 747 (C) 889 (D) 898

609 Q2@ QWY IRl 2249, 8227 8 756 § RITRER UGS DRAFEE 8, 10 6 9 0FS ?
(A) 77 (B) 747 (C) 889 (D) 898

2. When all the students of school are made to stand in lines to form a square, less than 10 students are left
surplus. If the students of the school are 1230, how many students will stand on each line?

(A) 32 948 (B) 34 Q4 (C) 35 Q4 (D) 36 94

R SRR FIGFINT TR 69G6R AIG UIE @R O8I FARIQ 10 Q @F1 BIG SRATER | YR FIGAHY
1230 Q61 626@ JERIIGER 6260 @4 ]IQ 86! 626m?
(A) 32 @6l (B) 34 @4l () 3594 (D) 36 @4l
3. The depth of a water tank of cube size of equal sides is 200 c.m. If 1000 ltr of water is drawn-out of the

tank daily, in how many days all the water of the tank be finished?
(A) 4G (B) 6 @2 ()78 (D) 8 @&

691I5N AFARIRIQ AIS FIFQ FRIQG 200 6Q.51 1 9RIQ 6509 1000 REQ IS FITEAER, 6R6S
GR6Q QISIOR 69Y 6QRDR |

(A) 4G9 (B) 6 @@ (C) 7@ (D) 8 @8
4.Tn a division the devisor is 4 times the quotient and 3 times reminder. If the reminder is 4, what is the
dividend?
(A) 16 (B) 19 (C) 40 (D) 48
IR AUTAER VKR, VNTRR 4 961 IQ° WIGIESTR 3 GJ€1 2SS | R QUSESN 4 g\, 6069 QG 6R6Q ?
(A) 16 (B) 19 (C) 40 (D) 48
5. The age of father and son together was 45, Syears back. What will be their combined age after 5 years?
(A) 65 (B) 60 (C)55 (D) 50
5 o8 Q64 QIT 8 gEIa @9 718 45 @F gl 1 5 OF 6A CANTQ VAR AT 6266 6297
A)65 (B) 60 (C)55 (D) 50
6. What smallest number has to be deducted from 1294 to leave a reminder of 6 in each case when divided
by 9, 11 & 13?
(A)1 B)2 O3 (D) 4

1294 Q 3= YOO Yl TS @A 9, 11, 13 FIQI AUIRER FEGUD 6VFER VIGESV 6 Q@Q?
A1 (B)2 O3 (D)4

7. What smallest number shall be added to 11158 to make the addition divisible by 77?
(A)9 (B) 8 ©7 D)5

11158 6Q 699 YOO LHY 6QAITRER CAITETR 77 FIal TG 6297
(A)9 (B)38 ©7 D)5



https://applink.adda247.com/d/XhqWf9lSap

Adda

e

GET IT ON
Google Play

964362 6Q '6' Q AR CIR FIRIER 2BQ 6R6E?
(B) 5994400

9.What is the highest of all the 2 digit primary numbers?
(A) 93

QR A 6 AQOIQ 9@ 6CIFS °HYIT 660 ?
(A) 93

(A) 59940

(A) 59940

ARITHMETIC

8. What is the difference between the positional values of 6 in the number 9643627
(B) 5994400
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(D) None of these

(D) G9lIoe FRIQ 6Q163G gew

10. The addition of 2 numbers is 15 and the addition of their squares is 113. What are the 2 numbers?

Qﬁl@ LHIR CANTR 15 8 6AARTR RGQ SATTR 113 | 6661 QI TL 6R6S?
(A)4,11

11.What number shall be multiplied by that number to make a product of 412097
(A) 207

6RQ UG 62T QS FIQ JEER YETR 41209 6217
(A) 207

(A) 4,11

12.The result of subtraction of 2 numbers is 20% of the greater number. If the smaller number is 20, what is

the greater number?
(A) 25

Qa8 AHUIQ FEACTR, FELSMIR 20% 26 | AR AT 20 626, 96 LHUIT 689 ?
(A) 25

13.15 years back, my age was 3 times the age my son. Now my age is 2 times the age of my son. What is the

total age of both of us?
(A) 60 years

(B) 64 years (C) 72 years (D) 90 years

15 o¢l g6< 6618 Q99 671192 999Q 3 G4l gRI | FEFIR 671 VA 661l Y2 AAQ RIS 26T 1 6969

QEFIR 2IF YR FEIFR VA 718 62697
(A) 60 @8

14. The product of two numbers is 70 and their addition is 17. What is the difference between the two?

a6 YR GEITR 70 B CATTR 17 | 6668 LBl QRTQ UBQ TR 6R6C ?
(A)3

15.1f 517*324 is divisible by 3, which of the following small number will replace the star?
(D) None of these

QG 517 * 324 QYT 3 FIGI AN 99, 6069 * Al FEQ F6TIB 69 YOI LHUIT ER 2
(D) elIee FRIQ 6A16EE Q68

(A) 3

(A) 0

A0
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- ARITHMETIC
16. Which of the following number will fill up the gap in the series 4, 16, 36, 64 , 1447
(A) 81 (B) 100 (C) 132 (D) 140
4,16, 36, 64, ------144 2AGIFIR AU TFER 699 LG AE?
(A) 81 (B) 100 (C) 132 (D) 140
17.3/5" of a village are farmers and the rest are businessmen. If the number of businessmen is 300, what is
the total population?
(A) 650 (B) 750 (C) 700 (D) 800

60lIGN QIR 3/5 2°8l Q11 B AQEE QUL | UF QUSRI Q°HYI 300 @, 6062 gIFIR 6¢1I6' SmMI@ A°GMI

6REL ?
(A) 650 (B) 750 (C) 700 (D) 800
18. Rahim reared some hen and goats. If the heads of fhe hens and goats are 90 and their legs are 248, how
many goats did Rahim rear?
(A) 32 , (B) 34 (C) 36 (D) 40

QEF @ 990! 8 687 ARYRI | AT 68F 8 @@l 8 8 90 6 63lIE T8 248 99, 606 QEC| 6RERIG 687

ARl ?
(A) 32 (B) 34 (C) 36 (D) 40
19.a-b b-c c-a
5 + >y + presin ?
@0 ®) ©3 D)
a-b b-c c—-a
R R
A0 (B), ©3 D)

20. The H.C F of two numbers is 13. If one number is 91, what is the other number?
(A)7 (B) 65 (©) 13 (D) 63

QaE QIR 6.Q1.G). 13 1 691I5° A°FYI 91 626R, AMET AT 69667
(A)7 (B) 65 (© 13 (D) 63

21.What times of H.C.F is the L.C.M of 48, 36, 72 & 247
(A) 6 B) 12 (©) 18 (D) 24

48, 36, 72 9e° 24 Q R.91.9]. NFILF 6.91.9). Q 6266 G617
~ N@Ae (B) 12 ©) 18 (D) 24

22. The H.C.F of 2 numbers is 3 and the L.C.M is 60. If one number is 12 what is the other number?
(A) 5 (B) 15 (C) 18 (D) 36

QG IR 6.Q1.9. 3, R.QALG. 60 1 691G °HYI 12 626R AT 69667
A)S5 (B) 15 (C) 18 (D) 36
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ARITHMETIC 9
23.The L.CM of 25 & 30 is how many times their H.C.F?
(A) 40 (B) 41 (C) 45 (D) None of these

35630 Q. Q. ¢, IFISFR 9. Q. G, @ 6266 ¢l ?
(A) 40 (B) 41 (€) 45 (D) 6016135 gew

24. Find out the LCM of 3 a?bh, 4 a b? &6 ab.
(A) 12 a? b? (B) 12a? b (C) 12.a b? D) 12ab

3a%b, 4ab? &6ab QM Al Qo 6R6Q?
(A) 12 a? b? (B)12a%b (C) 12 a b? (D) 12ab

25. The sum of two numbers is 384 and their HCF is 48. What is the difference between the two numbe'rs?
(A) 48 (B) 96 (C) 144 (D) 192

Q@@ LHYIQ CAIFTR 384 I° LHUIFAR 61.Q1.9. 48 | 6G6Q A°GHUIFL 1R ABAR ER6L?

(A) 48 (B) 96 (C) 144 (D) 192
26. The addition of two numbers is 384 and their H.C.F is 48. What is the ratio between the two numbers?
(A)3:5 (B) 4:5 . (C) 2:3 (D) 1:3
QIQ@ AR CAIGTR NI ¥ B QA ¥ 6L6m, A6l T 2gdle 6@6C (O
(A)3:5 (B) 4:5 (C) 2:3 (D) 1:3
27. The proportion of two numbers is 5:6. If their H.CF is 4 what is their L.C.M?
(A) 90 (B) 96 (C) 120 (D) 150
Gad EHIQ AGAIS 5:6 1 UG 6AARETR 61.ALY. 4 §I, 6969 62AFIRTA NG, 666 ?
(A) 90 (B) 96 (C) 120 (D) 150
28. The H.C.F of three numbers is 3 and their L.C.M is 720. If the 1* and 2" humbers are 15 & 36, what is the
3" number?
(A) 16 (B) 14 ©) 12 (D) 10

56415 LR 9.21.9), 3 BR.QLY, 720 | IF GeIFl B oI AHIFA 15 836 2B, 696@ GO AHIT 6266 ?
(A) 16 (B) 14 (C) 12 _ (D) 10

29. The product of two numbers is 216 and their H.C.F is 6. What is their L.C.M?
(A) 36 (B) 48 (C) 60 (D) 120

GaG QPHHIR GEITR 216 IS° 6AFIRTR 9119, 6 6267, LHIFAR R.2.G, 62697
(A) 36 (B) 48 (C) 60 (D) 120

30. The proportion of two numbers is 3:5 and their L.C.M. is 225. Then find out the smaller number?
(A) 45 (B) 60 75 (D) 90

QaE LR AFAIS 3: 549" 6ATNIFA R Al. G, 225 1 696 AR AT 6R6S?
(A) 45 (B) 60 (©)75 (D) 90
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3.. The ratio of two numbers is 5:4. If 40% of the first number is 12, what will be 50% of the second number?

(A) 12 (B) 14 (C) 15

(D) 18

Qad THIQ 2gAIS 5:4 1 9F AN LHIR 40% 12 4, 666Q Fo1A A°HIR 50% 66 6297

(A) 12 (B) 14 () 15

(D) 18

32. The H.C.F of two numbers is 11 and their L.C.M is 7700. If one number is 275, what is the other number?

(A) 279 (B) 283 (C) 308

(D) 318

QAGE LHIR G, Q. g. 11 99° @. Q1. g, 7700 | 6T Gl 275 626R, AR SIS 62607

(A) 279 (B) 283 (C) 308

(D) 318

33.If the proportion of 3 numbers is 3:5:7 and their L.C.M is 4200, what is their H.C.F?

(A) 40 (B) 80 (C) 120

(D) 200

GERIT A°HYIR AQAIG 3: 5: 7 49° 6QAINTA M. 4. G, 4200, 66G6R 6QCURTQ 9. Ql. 9. 6REC ?

(A) 40 (B) 80 (C) 120
34. Find out the LCM of a? + ab & ab — b?.

(D) 200

(D) ab (a - b)(a + b)

(D) ab (a - b)(a +b)

(D) 1232341

(D) 1232341

(D) 100

(D) 100

(A) ab (a+b)(a-b) (B)a(a-b)a-b) (C)b(a+b)(a+b)
a?+ ab &ab—b?Q M Ao Qo 6R6EG ?
(A) ab(a+b)@a-b) (B)a(a-b)a-b) (C)b(atb)a+b)
35. What is the square of 1111?
(A) 1234321 (B) 12321 (C) 1112311
1111 @ 96 62697
(A) 1234321 (B) 12321 (C) 1112311
36. What smallest number should be added to 6375 to make the sum a complete square number?
(A) 50 (B) 20 (C) 25
6375 69 69Q PO LY 646l @em ST U@ Qf{i Q6 Yl 6897
(A) 50 (B) 20 (C) 25
37.(0.021)%= ?
(A) 441 (B) 0.0441 (C) 0.0441

(0.021)?= 6Q62 629 ?
(A) 441 (B) 0.0441 (C) 0.0441

38. What is the square root of 0.053361?
(A) £ 0231 (B) £0.241 (C) £0.249

0. 053361 @ Q41 €| 69697
(A) £ 0.231 (B) £0.241 (C) +0.249

39. What is smallest complete square root number nearest to 1000?
(A) 29 (B) 30 (€) 31

1000 @ Fa691 Ie° Y2or 94 QAR 6066?
(A) 29 (B) 30 (€) 31

(D) 0.000441

(D) 0.000441

(D) £0.251

(D) £0.251

(D) 32

(D) 32



https://applink.adda247.com/d/XhqWf9lSap

Adda247

MAT0001417 / A / Page 8 of 20
ARITHMETIC

40. The length of a rectangular is 1.5 times its width. If its area is 1350 sq. meter, what is its perimeter?
(A) 120 4. (B) 130 €. (C) 140 &. (D) 150 &1.

665N 2IRE 6590 654 92Q 60@ G¢1 | ITIR TR 1350 Q. ISR 626R, IR ARAAITN 6063 ?
(A) 120 &. (B) 130 &. (C) 140 &. (D) 150 &.

41. In exchange of two square size plots of 400 & 441 sq. meter, a man purchased one square size lot.
What will be the expenditure if it is fenced at a rate of Rs.5.00/per meter?

(A) 240 6 (B) 260 6 (C) 280 o (D) 300 6

Q641 6RIP VIR 400 6 441 96 7600 GG QUIRIQ & ARRER 665N QTR &F FERI 1 WYEQ AIG 6Q4
@ Fiea g 5 o7 FARER 6R6S FIE 629 ? ‘
(A) 240 o (B) 260 o& (C) 280 o (D) 300 &

42.Tf the area of a square size field is 133.6336 sq. meter, what is its perimeter?
(A) 48.24 & (B)46.428. (C) 46.24 &. (D) 46.32 &.

60T QUIIRIQ OG2IQ 6FTR 133.6336 @ .41. 626m, QG aaQcl 69697
(A) 48.24 4. (B) 46.42 Q1. (C)46.24 Q1. (D) 46.32 4.

43. . —1331
What is the cube root of |

ONEE> ®) - ©= D) -1

-1331
4096

QWS C® 6R6C ?

(A) -3¢ ® -5 (2= (D) — 3¢
4. 3272744 = ?
(A) -52 (B) 42 (C) 32 (D) -24

V27 x3Y=2744 = 6Q6@ 6297

(A) -52 (B) 42 (C) -32 (D) -24
45.3/=1728 x 15625 = 9
(A) -180 (B) -240 (C) -280 (D) -300

Y=1728 x 15625 = 6@6% 6297
(A) -180 (B) -240 (C) -280 (D) -300

46. The population of a town is Rs.3, 00, 000. If the birth rate is 5% and the death 3%, what will be the
population of that town after 2 years? '
(A) 321120 (B) 311220 (C) 312120 (D) 322110

66115 AFQQ ERIFA°HYI 3, 00,000 | G QLA 5% B FJRULIR 3% RN, 6269 2 od 060 698 AR

ERID LYY 696S 629 ?
(A) 321120 (B) 311220 (C) 312120 (D) 322110
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(D) 20%

| ARITHMETIC
‘:- If the salary of ‘A’ is 25% higher than the salary of ‘B’, by what percent is the salary of ‘B’ less than the
salary of “‘A’?
(A) 15% (B) 25% (C) 10%

AT A Q QQfl B Qo9lIQ 25% RIS 99, 6669 B @ @01l A @a¢IIQ S0@e] 626¢ @c1?

(A) 15% (B) 25% (C) 10%

(D) 20%

48. The average of 6 members in family is 22 years. If the age of the youngest is 7 years, what was average

49.

50.

51.

52.

age of the members of the family at the time of birth of the youngest?
(A) 15 years (B) 16 years (C) 17 years

(D) 18 years

Q0 6 FIFA LALIR 9 22 9F | AT A AR VYRR A 7 Q‘Slg\’l 6069 ALGIT @9 ATAER URIQR

ARCNNER QIR YA 626G R ?
(A) 15 Q9 (B) 16 @8 (C)17e9

(D) 18 @8

An examinee secures 30% marks and fails by 50 marks in an examination. Another examinee gets 320

marks and fails by 30 marks. What is the maximum marks of the examination?
(A) 700 (B) 800 (C) 900

(D) 1000

@66 9QIFIL 9@ AAITIER 30% Qe OF 50 AYQ IR 6TR 84 1 2R K68 ARV 320 AR Y 30 YR

QIR 6TR, 291 6669 ARIVIQ AR IR 6268 ?
(A) 700 (B) 800 (C) 900

What is the average of X, X+2, X+4, X+6 and X+8?
(A) x +20 (B)x +4 : ©x+5

X, Xx+2, x+4, x+6 8 x+8 Q QLA 6262?
(A)x+20 (B)x+4 (C)x+5

(D) 1000

(D) x

(D) x

The difference of 90% and 83% of a number is 175. Then find out 99% of the number?

(A) 1426 (B) 1750 (C) 2475

69115 QHYIR 90% B 83% F1IEA A2 175 | 6969 °HITR 99% 6R6S ?
(A) 1426 (B) 1750 (C) 2475

Find out the difference between 17% of 120 and 8% of 108?
(A) 11.66 (B) 11.76 (C) 10.76

120 @ 17% B 108 8% SRIER UBATR 6966?
(A) 11.66 (B) 11.76 (C) 10.76

53. How many hours is 20% of 40% of 4 hours and 20 minutes?

(A) 13/6 hours (B) 26/75 hours (C) 13 hours

4 291 20 G15Q Q 40% Q 20% 6R6C AH? \
(A) 13/6 Q8 (B) 26/75 Qs (©) 13 a8l

(D) 2500

(D) 2500

(D) 10.66

(D) 10.66

(D) None of these

(D) 6R613G gee
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54.The rate of sugar having increased by 25%, Seema purchased 1kg less than before with Rs.100. What is
the present rate of sugar per kg?
(A)Rs.20 (B) Rs.20.50 (C)Rs.25 (D) Rs.30

P~

SRR GQ 25% QRLIQ QAN 100 SFIER q§|e€1s8| "1 gl Q6 T8 FaRI | QAR TFa B9l 9T GQ 6966 ?
(A) 920 (B) ©20.50 (C) 925 (D) 630
55. The average age of 25 boys is 15. If the average ages of first and the last 12 boys are 14.5 & 15.5

respectively, what the age of 13® boy?
(A) 10 (B) 12 ©) 15 D) 16

25 @4 QIPREQ LIAIR @A 15. AR FaIA 12 @41 B 66 12 QIFQ LAQALIR QA LRIIFEA 14.5 8 15.5 9\,

13 990 FINEA Zal AFRR AL 6R6E ?
(A) 10 (B) 12 ©) 15 (D) 16

56. Nabaghana borrowed Rs.10, 000 from a bank at an interest rate of 10% and lent the same to 02 persons at
13% interest. How much profit he will earn after 5 years after repaying bank loan?
(A) Rs.1200 (B) Rs.1500 (C) Rs. 2100 (D) Rs.2500

ARAR 10% 2IR6Q UIFQ 10,000 &1 KOS KR 13% LINER IRS! 6RIFT KAR 6@ | 5 A 68196Q 692Q
Q'a QU Q8 ARSI KR 6R6C OF RN AR ?

(A) 1200 @. (B) 1500 @ (C) 2100 @ (D) 2500 .
57. What is the rate of interest if the principal amount becomes 3 times including the principal and interest in
2?1537)6?{)5‘;, B) 12% (C€) 8% (D) 10.5%
6a161d QRAe 20 @8R QI B AR A8 ARUAR 3 &I SR | RIS VG 6R6EE ?
(A) 10% B) 12% (©) 8% (D) 10.5%
58. If certain principal is doubled in 20years, how many years will it take for that principal to multiply by 4
tl&e)szo years (B) 50 years (C) 60 years (D) 80 years

9@ 619Q RS 20 T6R FYEE 9, 6969 676G FTER VB FIRUR 4 &1 629 ?
(A) 40 @8 (B) 50 @8 (C) 60 @8 (D) 80 @
59. In how many years the interest on principal amount of Rs. 2,500 @ 3% interest will be equal to the interest

@ 7% for 5 years on principal amount of Rs.1, 5007
(A) 5 Years (B) 6 Years (C) 7 Years (D) 8 Years

6260 9d6Q 3% AaR FAI6R §2,500 FRUGR Y, 91,500 FRISR 7% AR QI6R 5 eda I A6 AR
629 ?
(A)5 Q8 (B)6Q8 (C) 799 (D) 8 @€
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60. Ajay borrowed some money from Rashmi at 5% simple interest per annum and was freed of debt repaying
Rs.8, 800 after 2 years. How much interest did he pay?
(A) Rs.800 (B) Rs.825 (C) Rs.850 (D) Rs.975

200 QIFR 5% QR QIR FE 971 AFI0IQ A0S @8 gRAT U6 68,800 60N ASIFB 62RI | 696@ QI
QIFQQ 2RLQ 6R60C &I 6QaIq AGRI?
(A) €800 (B) ©'825 (C) 9850 (D) €975

61. At what rate of simple interest per annum certain principal amount will be doubled in 8 years?
(A) 10% (B) 12.5% (C) 15% (D) 20%

QTR 6960 20 AARUER 6F1GA TR 8 IT6R FGEIE 629 ?
(A) 10% - (B)12.5% (©€) 15% (D) 20%
62. Rakesh lent Prakash Rs.8750 at simple interest of 7%. How much interest will he get in 3 years?
(A) Rs.1870 (B) Rs.1837.50 (C)Rs.560 (D) Rs.2200

QRS QITR7% QP YRI6Q JRIGF $8,750 2 6QRI | 6669 64 3 TR 663 Yol ARS ?
(A) 61870 (B) $1837.50 (C) $560 (D) 62200

63. What is the amount of principal and interest of Rs.860 in 2 years @2paise per rupee per month?
(A) Rs.1227.80 (B) Rs.1722.80 (C) Rs.1272.80 (D) Rs.1722

oml g9 Q19Q 2 9adl 8AIF6R 860 SR 2 AR ARG 626C ?
(A) ©. 1227.80 (B) ©. 1722.80 (C)%. 1272.80 (D) ©. 1722

64.1f the difference between compound interest and simple interest on certain money at 5% per

annum in 2 years is Rs.5, what is amount of the principal?
(A) Rs. 2000 (B) Rs. 1000 (C)Rs. 1500 (D) Rs. 2500

QTR 909! 5% LI G6R 2 TR 6AIIR FRIFA AR Y&l 8 999E QI IR AITRY 9@ 9.5
24, AMIQQ AACIE 6R6S 629 ? ,
(A) Rs. 2000 (B) Rs. 1000 (C)Rs. 1500 (D) Rs. 2500

65. The difference between simple interest and compound interest of certain amount at the interest rate of 10%
in 3 years is Rs.93. What is that amount?
(A) Rs.6000 (B) Rs.5000 (C) Rs.4000 (D) Rs.3000

9008 10 9= 21961 3 F6R 16T ARIAR AR Yl IS GFYE QU FIIER QIR 93 SF | 698 (RIS

RN 626 ?
(A) Rs.6000 (B) Rs.5000 (C) Rs.4000 (D) Rs.3000
7~ AN
66. What shall be the amount including compound interest, if Rs.1500 is invested at the interest rate of 7% in
2 years?
(A) Rs.1717.35 (B) Rs.1727.35 (C) Rs.1737.35 (D) Rs.1747.35

49901 7 SF1 2R6Q 1500 IR 2 996a AFR R Yo 6260 6297
(A) Rs.1717.35 (B) Rs.1727.35 (C) Rs.1737.35 (D) Rs.1747.35
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67.In how many years Rs.6250 will earn compound interest of Rs.510 if saved in a bank at the interest rate of
4% per annum?
(A) 2 years (B) 3 years (C) 4 years (D) 5 years
690! 4 O AR 6250 ST 0TI MUIFER AYER 6R6E ATER IR EFYE QI 510 SF 629 ?
(A) 2 years (B) 3 years (C) 4 years (D) 5 years
68. What will be the amount of compound interest if Rs.8000 is lent at simple interest rate of 5% for three
years?
(A) Rs.1281 (B) Rs.1271 (C) Rs.1261 (D) Rs.1251 -

8000 1 JRUGG F0RR! 5 1 QX AREA AAR 6G6R 66 ATACR 9T P 6963 6297
(A) Rs.1281 (B) Rs.1271 (C) Rs.1261 (D) Rs.1251

69. A person borrowed Rs.5000 from a bank at a compound interest of 10% to purchase a water pump. What
amount of money will he repay the bank after 3 years to be free of the debt?
(A) Rs.6655 (B) Rs.6055 (C) Rs.5555 (D) Rs.5255

6alIG QIE a%t GERIQ 968 RIS 10 GBEG 959R QI 2AREA TR 5000 SF 8l AOIRER 13 FTACR
671 6260 TFI 6QR 6Q TR RSl 1B 6269 |
(A) Rs.6655 (B) Rs.6055 (C) Rs.5555 (D) Rs.5255

70. A shopkeeper sold 2 articles and earned a profit of 20% in one and suffered a loss of 20% in the other.
What was the percentage of his profit or loss in the business?
(A) 4% loss (B) 4% gain (C) 8% loss (D) No profit or loss

@641 6QIRIR1 9BF BE IR 69ITRER 20% RIN AIGRI B ARITER 20% BT AR 1 6715 AAER B
SORC 6260 NN @1 G 62! ?
(A) 4% loss (B) 4% gain (C) 8% loss (D) No profit or loss

71. As shopkeeper earns a profit of 10% after giving 10 percent discount on a book. What is cost of the book,
if its price is marked Rs.77/-? ,
(A)Rs.70 (B) Rs.77 (C) Rs.63 (D) Rs.60

K68l QTCRIRINT F6E 9T AR 10% G2IT 68UT6R A 10% RV K03 | AT 9T QU6 QIe| 77 = 6R3
QAIRAN, BIL| 626 YTTA FUTIMY 62667
(A) 70 o (B) 77 o (C) 63 o (D) 60 oI
72. The purchase price of a bicycle is Rs.2000/-. Its marked price is 50 percent more than the purchase price

and the rebate is 20%. Find out the sale price of the bicycle?
(A) Rs.2300 (B) Rs.2400 (C) Rs.2500 (D) Rs.2600

GGG AIREARR FARY 6.2000 1 ILIQ RYS FJRY FATRY ACA 50% YR B AAT 20% 626R, ARCANR
TGERY 69607
(A)23006. (B) 2400 <. (C) 2500 6. (D) 2600 ©.
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73.°A’ sold a cycle to ‘B’ @20% profit and ‘B’ sold the cycle to ‘C’ at 25% profit. If ‘C’ purchased cycle at
Rs.1500, what is the sale price of the cycle?

(A) 1200 . (B) 1100 (C) 1000 (D) None of these

A, B @ 942 AIREXM 20 % RV B B, C § 25% RN F@@em | 98 C AREKRG 6.1500 60 @82, 6069
AIRECXNA SR 6R6Q ?
(A) 1200 (B) 1100 (C) 1000 (D) 6216135 q6%

74.1f 5% of the sale price of a table is equal to 6% of its purchase price and 8% of its sale price and 9% of its
purchase price makes a total of Rs.93 what is its purchase price?
(A) Rs.600 (B) Rs.400 (C)Rs.500 (D) Rs.700

AR 63T 659RA TFAINIS 5% B QATRIS 6% AAAQ ACIL IS° GI'Q FFIRYR 8% B YARIA 9% Q A
.93 g9, 699RER QUCINY 6R6C 62Q ? :
(A) 6.600 (B) ©.400 (C) ©.500 (D) 6.700

75. A, B, & C started a business investing Rs.14000. If the amount of profit eared after one year by AB & C

is Rs.337.50, Rs.1125 & Rs.637.50 respectively, what amount was invested by A?
(A) 2250 (B) 7500 (C) 4200 (D) None of these

A, B 8 C 66118 ©.14000 690 9 9402 2IOR K6R | 996 96Q A, B 8 C AIfQ! RINQ 9R¢1€ Q2lIg6s]
$.337.50, ©.1125, ©.637.50 626R, A @ G616 2¢] 6R6Q ?
(A) 2250 (B) 7500 (C) 4200 (D) 6916135 gee

76. Mohan suffered a loss of 10% by selling his wristwatch at Rs.1440. At what price he should have sold the
watch to get a profit of 10%?
(A) Rs.1, 650 (B)Rs.1, 700 (C)Rs.1, 760 (D) Rs.1, 820

60128 0I'a ACANITY $'1,440 6Q FRQ 10% I AR | 6969 64 AITY 676E TFIEQ 37 FALYSR 10%
R ARSI ?
(A) 91, 650 (B) ©1, 700 (C) 91, 760 (D) %1, 820
77. A shopkeeper purchased 50 pens at Rs.50 each. He sold 40 pens at a loss of 5%. At what percentage of

profit must he sell the balance pens to get 10% profit on the whole?
(A) 15% (B) 40% (C) 50% (D) 70%

S68 ARF1 6QIRIRT SRE 9F 50 TAIRER 50 & ANE FER | 6QSYLRIQ 40 T FRAQ 5% VTEQ IGAM | 606

QY AR JEG 69 6R60 IR0 RIVER M QI'A 6¢1S RAER 10% NN 6297
(A) 15% (B) 40% (C) 50% (D) 70%
< 78Hari bought 1600 eggs @Rs.3.75 per dozen. He sold 900 eggs @2 eggs per rupee and the rest at the rate of
5 eggs per Rs.2/- . What was his percentage of profit?
(A) 40% (B) 42% (C) 45% (D) 46%

28 0er 9@ ©3.75 aRQI6a 1600 & 214l FERI | 628 FRIQ 900 § 2AIQ 1 FFI6R 25 8 2QEY AQIQ 2 TFI6R

55 QR GGR6R | 6062 6 6R6R JORC! NIA AIRER ?
(A) 40% (B) 42% (C) 45% (D) 46%
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79. A dishonest businessman sells his goods and gains 20% profit on both the cost price and sale price using ~ ~

wrong measurement. What is the total percentage of his profit?
(A) 50% (B) 40% (C) 44% (D) None of these above

@641 2ARY LA @ B QLI 2 QaL QAcImY @ ol 7= @A6Q 20% 6RSIN RIB F6Q | 6061 AI'A

60lISER FRG! 6960 RIR §I ?
(A) 50% (B) 40% (C) 44% (D) 9QERIQ 6FGTE g6%

80.1f the proportion of the sides of 2 cubes is 3:4, what is proportion of their volume?
(A) 3: 4 (B) 4:3 (C) 64: 27 (D) 27: 64

Q@@ AAARQ QI AIRSQ AQAIS 3: 4 626, EAVNRTR YRR AQUIG 6REC 699 ?
(A)3:4 (B) 4.3 (C) 64: 27 (D) 27: 64

81.350 students read in a school. The ratio of the boy and the girls is 4:3. How many girls have to leave the

school to make their proportion 2:1?
(A) 20 (B) 30 (C) 40 (D) 50

661G SQUIRAER 350 Q81 RI A0 ALE 1 6QARIRE FRIRQ 2 B T2 AQAS 4:3 | TIRAQ 6R6E F6I FIQT

gIe SIMGIR, 69T 2AIS 2:1 629 ?
(A) 20 (B) 30 (C) 40 (D) 50

82.1f A: B=3:4 and B:C = 8:9, what is A:B:C?
(A) 8: 6: 9 (B) 6:8:9 (©)9:8:6 (D) 3:32: 9

QG A:B=3:48B: C=8:9 g4, 6069 A: B: C 6@60?
(A)8:6:9 (B) 6:8:9 (C)9:8:6 (D) 3:32:9

83. The proportion of copper, lead and nickel in an alloy of 100kg is 5:3:2. How much nickel would be added
to the alloy to make their proportion of the new alloy 5:3:3?
(A) 8 kg. (B) 10kg. (C) 12 kg. (D) 15kg.

100 69.8. Q 92 IRAER QI 97, AIQ Y9° FeaRQ AQAIG 5 : 3 : 2 26T | AB IRAEA 6260 AALSR
Qe JdIRsR 92 IR9e 2AgAIe 5:3: 3689 ?

(A) 862.G. (B) 10 62.G. (C) 1262.4. (D) 15 62.G.
84.Rs.832 was distributed between Ram & Govind. If the proportion of the money given to them is 1/3:1/5,
how much money did Ram get?
(A) 312 (B) 520 (C) 500 (D) 332

QUET B 6T F1RIER 832 Sl Qg QIR | 6QCUER AIRGRN IR AQAIS 1/3 : 1/5 626, QUE1 6R6C Sl
dIxx?
(A) 312 (B) 520 (C) 500 (D) 332
85.350 boys read in a school. The ratio of the boys and girls is 4:3. After some girls left the school their ratio

turned to 2:1. How many girls left the school?
(A) 20 (B) 30 (C) 40 (D) 50

601G SRR 350 R AR A0 ARE | 6ATIRE CRIQ G2 B B2 AFAIS 4 : 3 | FTUIRAR 6260 I8 &2

QT JIRPAIQ G2 6 AR AQAIS 2 : 1 62N | 656 6R6C V8l T2 FAUIRA AQGUIG FER?
(A) 20 (B) 30 (C) 40 (D) 50
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86. The proportion of 2 numbers is 10:1 and their sum is 1188. What is the number?
(A) 18 (B) 108 (C) 81 (D) 28

Qa% QSR 2QAIS 10: 1 B 6AFIGFR CAGTR 1188 6261, A°HIT 6060 ?
(A) 18 (B) 108 (C) 81 (D) 28

87.There are 200 boys and girls and 10 teachers in a school. If the proportion of boys and girls is 7:3 what is
the ratio of boys, girls and teachers?
(A)7:3:1 B)7:3:2 (©€)6:14: 1 (D) 14: 6:1

R SRR 200 @8 BISRIQT G 10 @8 AR 28T | 818 6 BIQ1 4GS 7: 3 626w, 8IS, 8IQ1 8 IR
AQANS 660 629 ?
(A)7:3:1 B)7:3:2 (C)6:14:1 (D) 14: 6:1

88. The ratio of two numbers are 3:5. If, 10 is added in each number, the new ratio becomes 5:7. Then find out

the smaller number?
(A)9 (B) 12 ©) 15 (D) 25

QaG IR AGAIS 3: 5 1 AT YRR A°HYIER 10 6T RAUIAN, §ER Yl FARQ 2AQAST 5: 79U 6069

Qe AT 6260 ?
(A)9 (B) 12 (C) 15 (D) 25

89. At what ratio a shopkeeper shall add two types of rice, one @ Rs. 15 and the other @ Rs. 20 per kg to get
Rs. 16.50 per kg?
(A)3:7 (B)5:7 )73 D)7:5

694 2QAIEER 661G 62T FERIGIF PG 15 61 6 20 SFIQ R IR SRR SRR, F6RI 96 16.50 S
AR AR ?
(A)3:7 B)5:7 () 7:3 (D)7:5
90. The length of a rectangle is increased by 20% and the width is decreased by 20%. The area decreases by-

(A) 8% (B) 0.8% (©) 1.2% (D) 4%

6OlIEN 2ICRETGR 684 9996! 20% YRITR! Ie° 98 S6RE! 20 QAIGRI | 6061 IR 6IAGTR 6268 AFR
?
(A) 8% (B) 0.8% (©) 12% (D) 4%

91. The ratio between the length and breadth of a rectangular field is 5:4. If the breadth is 20m less than the
length, the perimeter of the field is:
(A) 260 m (B) 280 m (C) 360 m (D) None

6GlITN 2ZIDE 63gQ 6T B 99Q AGAIG 5:4 | AT Y2 g8 6TWMOIQ 20 IR ¥¢1 6TIRRAN , 6969 ANS

6999 A1 6262 ?
(A) 260 m (B) 280 m (C)360m (D) None
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92. The material of a cone was converted in to the shape of a cylinder of equal radius. If the height of the

cylinder is 6 cm, the height of the cone was-
(A) 2 cm (B) 6 cm (C) 18 cm (D) 36 cm

6O 6RI] § PARIR AAIR AT FFF 691G ARTACH AREe FAITRI | AT IRAAQ AL 6 62. 4. 99,

606Q 6QIQ Q APC EREL 699 7
(A)2 cm (B) 6 cm (C) 18 cm (D) 36 cm

93. The radius of a cylinder is the same as that of a sphere. Their volumes are equal. The height of the cylinder

is how many times its radius?
(A) 4/3 (B) 2/3 o1 (D) 2

691G SRaa QYIRS 60T 6INGa YIS A6E AR | AR 2SR AFR 26T | 6060 IRTQ AT
Q2R MIATQ 6260 G4 ?
(A) 4/3 (B) 2/3 ©)1 (D) 2

94. If the height of a cone is doubled, then its volume is increased by:
(A) 100% (B) 200% (C) 300% (D) 400%

AR 60IE 69IQ Q ABVIF R FE YA, 6606 IR 2IARR 6R6C AL ?
(A) 100% (B) 200% (C) 300% (D) 400%

95.If the ratio of volumes of two sphere is 1:8, the ratio of their surface area is-
(A) 1:2 (B) 1:4 (C) 1:8 (D) 1:16

A? A% CAINAA YRTRR AQAIS 1:8 §4, 6669 6I'Q AUARIGIA 6ASTRA AQAIC 663 ?
(A) 1:2 (B) 1:4 (©)1:8 (D) 1:16

96. If the surface areas of two spheres are in the ratio of 4:25, the ratio of their volume is-
(A) 4:25 (B) 25:4 (C) 1258 (D) 8:125

95 2 § 66IRTQ §IERR BGAIB 4:25 T4, 6969 6ACIFA ANTRN AGEIG 6766 ?
(A) 4:25 (B) 25:4 (C) 125:8 (D) 8:125

97. A cube of side 6 cm is cut in to a number of cubes, each of side 2 cm. The number of cubes will be:
(A) 6 (B)9 ©) 12 (D) 27

6 6. 4. Qg TN U@ AR RIT 6268 GEd 2 6Q. F. QIg FEY ATLREA ARG FAUTRI | 696Q 4T

AR FERR S 696Q 6297
(A) 6 (B) 9 (©) 12 (D) 27

98. Three cubes of iron whose edges are 6 cm, 8cm, and 10cm respectively are melted and formed into a
single cube. The edge of the new cube formed is:
(A) 12 cm (B) 14 cm (C) 16 cm (D) 18 cm

6 624, 8 6.5, 810 6. §i. QIgFIY T6AIT 6RIe HTe ARG CANRN IR 9OF ANTRER UGS F6R,
IR QIR 6561 6966 629 ?
(A) 12 cm (B) 14 cm (C) 16 cm (D) 18 cm
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99. A metal sphere of 5 cm radius is melted to make a cone with base of the same radius. What is the height of

the cone?
(A) 10 cm

(B) 15cm

(C) 20 cm

(D) 5cm

5 6281, QUAISY ST 6AIT MUIAR CIIRNTY FARIR AAIMIAET SFY IR 6RI] 68 ARG FAUSIR | 698 69IQ

QA QP! 6R6E ?
(A) 10 cm

(B) 15cm

(C)20cm

(D) 5cm

100. Two taps ‘A’ and ‘B’ can fill a cistern in 28 minutes and 56 minutes respectively. A third tap ‘C’ can
empty it in 42 minutes. If all the three taps are open, the time taken to fill the cistern will be:

(A) 32 minutes

(B) 33.6 minutes

(C) 33.8 minutes

(D) 34 minutes

9a% ISR A 9e° B 601N @aq aeligen 28 AR] 8 56 Adcea 9d @RaIe8 | §o19 AIfiew 42 ARG
QI2Ig Sim @AAIER | AT AN ARG IR ATAER CHIRGRAN, 6661 GET J4i629Iq 6968 AT AITS ?

(A) 32 minutes

(B) 33.6 minutes

(C) 33.8 minutes

(D) 34 minutes
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